SOCCER MANAGER written by Luca Jibo 1991 (Rev 2019)
For OLIVETTI M1@ QZERTY/QWERTY & VirtualT TANDY emulator
v2019 05 01b

5 CLS:GOSUB64:LINE(49,4)-(189,58),1,B:LINE(50,5)-
(188,57),1,B:MAXFILES=0:CLEAR: PRINTCHR$(27);"V":FORA=1T08:KEY (A)ON:NEXT: ONKEYG
osuB9s,0,0,196,430,46,70,71:DEFINTA,C-W,Y-Z:50=1: FORA=4T058STEP2:LINE(@,31)-
(49,A) :LINE(238,31)-(189,A) :NEXT

8 PRINT@91," (C) 1991 ":PRINT@170,"WRITTEN BY LUCA

JIBO" :PRINT@133,"Rev 2019 05 01b":REM12345678901

9 LINE(110,41)-(110,44):PSET(111,45):LINE(112,42)-

(112,44):PSET(113,45) :LINE(114,41)-(114,44):LINE(117,41)-

(117,45) :LINE(119,41)-(123,41):LINE(121,42)-(121,45) : LINE(125,41)-

(125,45) :LINE(126,43)-(127,43) : LINE(128,41)-(128,45)

10 PRINT@250,'"DAVIDE RAMPAZZ0O &
Co.":GOSUB96:DIML$(59),L(59),5(59),F(59),R$(59),3(59),RS(59) : FORA=0T059:F(A)=9
:R$(A)=" ":NEXT:G0=1:G$(0)="TANDY/M10":5$(0)=G$(0)

12 RESTORE12:DATAADOLPH,BACKBACH,BACONS, BAMBAM, BASTARDE , BENNIS, BO
PO0,BUTTHOLE, CHEATER, CRIVEX, CRUIJFF,DIOGENE,DINDONDY,DrFAARTZ, EUSEBIO, FORDICKS
, FUFINHO, FUNRIDE, FRI FRI,GNUTELLO

13

DATAGOLASSO, LOOSER, LOSTY, HOLYHOLE, HORSEX, JUNKS, JOHNBEST, JUMBONE , KARIOCA, LIGABU
LL,LIGHTOFF,MAPAROSS ,MARADONA,MATTLY,McSCHITS,MESSI ,MINKIAZ,NAKATA,NAMBAO, ORAL
RUDE

14

DATAPASTOREM, PELE, P.ENNIS, PINPEN, PLATONE, POMPOM, RONALDO, SAADMAAN, SAMBU , SHADHAM
» SANCHEZ, SGOMBROW, SKARSIC, SKIFOSIC, SOCRATE, TOSTAO, TRITOX, TURETUM, WAFERT , WHISKY
S

15 GOSUB90:GOSUB80:GOSUB64:B=2:G0SUB67:PRINT@175," TEAM NUMBER:":PRINT@218,"4-
5-6 ?"

16

GOSUB90: G=VAL (A$) : IFG<40RG>6THENGOSUB83: GOTO16ELSEGOSUB80@: GOSUB67: LINE(113,47)

(131,55),1,B:G0OSUB68: PRINT@259,G: GOSUB69: FORA=1TOG: PRINT@9+A*40,"TEAM: " : E=RND (
1)*12:G0TO073

18 PRINT@19+40%A,""; : LINEINPUTGS$(A) : J=LEN(G$(A)) : IFJ=0THENJ=1

19 IFJ>120RJ<40RMID$(G$(A),J,1)=" "ORMID$(G$(A),1,1)="
"THENPRINT@19+40%A,SPACE$(12) : GOSUB83: GOTO18ELSEGOSUB80:S$(A)=S$+G$(A) :NEXT:B=
0:GOSUB67:GOSUB64: PRINT@174, "*xx WAIT **x'":PRINT@249,">I< INFO KEYS
>K<" : FORA=1TOG

20 R=RND(1)*G+1:IFR<ATHEN20

21 A$=G$(A):B$=S$(A):G$(A)=G$(R) :S$(A)=S$(R) :G$(R)=A$:S$(R)=B$:NEXT

22 FORA=0TO059

23 R=RND(1)*60:IFL$(R)=""THENREADLS$(R)ELSEGOT023

24 NEXT:PA=3:IFG<6THENPA=2

25 K=10*G:IFG=4THENB=7:C=19:M=31:H=35

26 IFG=5THENB=9:(C=24:M=39:H=44

27 IFG=6THENB=11:C=29:M=47:H=53

28 FORA=0TOK-1:IFA<=BTHENL(A)=1

29 IFA>BANDA<=CTHENL (A)=2

30 IFA>CANDA<=MTHENL(A)=3

31 IFA>MANDA<=HTHENL(A)=4

32 IFA>HANDA<KTHENL (A)=5

33 NEXT:FORA=1T0G:BK(A)=100000:NN(A)=6:FORB=1T03

34 FORC=1T02

35 R=RND(1)*K:IFS(R)=0ANDL(R)=BTHENS(R)=AELSEGOTO035

36 NEXT:NEXT:NEXT:B=G0:G0SUB450:G0SUB230:ME=G: IFG=5THENME=4:V(SQ(5))=1



37 IFINKEY$<>""THEN37ELSEH=1:FORN=1TO0G:GOSUB85:G0SUB151:G0SUB60@: IFA$=""
"THEN100

38 NEXT:B=G0:G0OSUB85:G0SUB490:GOSUB60:G0T0100

40
GOSUB85:Y=0:KEY(4)0FF:IFA$="I"0RA$="1i"THEN5QELSEGOSUB41:G0OSUB90@:G0OSUB42:GO0T090
41 A$=" TEAM VIEW ":A=55:G0SUB49:PRINT@92,">S< SELL PLAYER":PRINT@132,'">F<
FORMATION IN":PRINT@172,'">Y< FORMATION OUT":PRINT@212,">P< PRINT
REPORT" : GOSUB45 : RETURN

42 A$=" MAIN MENU ":A=55:GO0SUB49:PRINT@90,">Y< >enter<

CONFIRM" :PRINT@121,">C<ALENDAR  >R<ANKINGS >G<0ALSCORER" : PRINT@168, "">T<EAM
INFO >M<ARKET INFO":PRINT@208,">P< PRINT depends on SCREEN"

45 PRINT@245,'">0-9< >arrows< >any< NAVIGATOR":RETURN

46

TI=89:G0SUB90:IFA$="Y"ORA$="y"ORA$=CHR$(13) THENFORR=1TOG:V(R)=0:T(R)=0:NEXT:GO
T080

47 RETURN
49 CLS:GOSUB68:PRINT" sk SOCCER MANAGER KEY COMMAND sk
":PRINT@A,A$:GOSUB69: PRINT@280,"Sound LPT FLOADresetCLOSES Run

Menu" : RETURN

50 GOSUB51:G0SUB90:GOSUB52:GOSUB90:GOSUB53: GOSUB90: GOSUB54:GOT090

51 A$="MARKET RULES ":A=22:G0SUB49:G0SUB79:PRINT@80,"-BUYING FROM PC ALLOWS
IMMEDIATE SELLING-SALES PRIORITY FIXED BEGINNING EACH DAY":PRINT@207,"(a) TEAM
LESS THAN $=10000":PRINT@247,"(b) TEAM WITH 10 PLAYERS":PRINT@287,"(c) TEAM
WITH LESS MONEY":RETURN

52 GOSUB55:PRINT@80,"WITH 4/5 TEAMS THE LAST ONE IS RELEGATEDWITH 6 TEAMS THE
LAST TWO ARE RELEGATED":PRINT@200,"FINAL CUP MATCH IS BETWEEN 2,3 RANK
TEAM" : RETURN

53 GOSUB55:PRINT@87,"SAME POINTS BETWEEN 2 TEAMS:":PRINT@127,"PLAY-OFF GAME OR
FINAL CUP":PRINT@204,"SAME POINTS FROM 3 TEAMS OR MORE:":PRINT@247,"PLAY-OFF
GAME OR FINAL CUP":PRINT@290,"BETWEEN THE BEST TWO":RETURN

54 GOSUB55:G0OSUB68:PRINT@50," RANKING PRIORITY ":GOSUB69:PRINT@130,"1 DIRECT
MATCHES WONS'":PRINT@170,"2 NUMBER OF WINS":PRINT@210,"3 GOAL DIFFERENCE
(GD)":PRINT@250,"4 GOALS SCORED (GF)'":PRINT@290,"5 ENGLISH AVERAGE

(EA)" :RETURN

55 A$="INSTRUCTION":A=22:G0SUB49:G0T079

60 FORA=0T01900:IFINKEYS$<>""THENAS$=" ":RETURNELSENEXT:RETURN

61 LINE(228,59)-(239,59)

62 LINE(234,59)-(239,59):LINE-(237,61) :LINE-(237,57):LINE-(239,59) :RETURN

63 GOSUB68:PRINT@51," CHAMPIONS DAY"B:GOSUB69:RETURN

64 PRINT@49, "xx*x SOCCER MANAGER *xx":PRINT@91,"(C) Luca Jibo 1991":RETURN

65 GOSUB68:PRINT@Q,'" FORMATION:":GOT069

67 FORA=BTO5:PRINT@49+40xA,SPACE$(22) :NEXT:B=0:RETURN

68 PRINTCHR$(27)+"p"; :RETURN

69 PRINTCHR$(27)+"qg"; :RETURN

70 PRINT@280," >R< Run? ":GOSUB90:IFA$="R"ORAS$="r"THENRUNELSEGOSUB83:G0T072
71 PRINT@280," >E< Exit? ":GOSUB90:IFA$="E"ORA$="e"THENMENUELSEGOSUBS83

72 PRINT@281,SPACE$(10) :RETURN

73
S$="U.S.":IFE=OTHENSS$="A.C."ELSEIFE=1THENS$="A.F."ELSEIFE=2THENS$="A.S."ELSEIF
E=3THENS$="F.A."ELSEIFE=4THENS$="F.C."ELSEIFE=5THENS$="F.S."

74
IFE=6THENS$="S.A."ELSEIFE=7THENS$="S.C."ELSEIFE=8THENS$="S.S."ELSEIFE=9THENS$=
"U.C."ELSEIFE=10THENS$="U.F."

75 PRINT@15+40%A,S$:GOSUB90: IFA$="Y"0RA$="y"ORA$=CHR$(13) THENGOSUB85:G0T018

76 IFA$=CHR$(29)0RA$=CHR$(30) THENE=E-2

77 E=E+1:IFE>11THENE=QELSEIFE<OTHENE=11

78 GOTO73

79 PRINT@280,SPACE$(39) :RETURN



80 IFSO=1THENSOUND1567,5

81 RETURN

82 CLS:GOSUB68:PRINT"SOCCER MANAGER ***xx Written By Luca Jibo":GOT069

83 IFSO=1THENSOUND14064,9

84 RETURN

85 IFSO=1THENSOUND2092,5

86 RETURN

87 IFSO=1THENSOUNDS810,9

88 RETURN

90 IFINKEY$<>""THEN90

91 R=RND(1) :A$=INKEY$:IFA$<>""THENRETURN

92 IFY=1THENPRINT@311,TIME$

93 GOTO091

94 IFSO=1THENSOUND1567,9:SOUND1567,9:S0OUND1567,9

95 RETURN

96

IFSO=1THENSOUND2348,15:SOUND1758,30: FORA=0T0200:NEXT:SOUND1758,15:SOUND1567, 30
: FORA=0T0200:NEXT:SOUND1567,15:SO0UND1171,50: FORA=0T0500:NEXT: SOUND1396, 15: SOUN
D1758,10:SOUND2092,25:SO0UND1318, 35: FORA=0T0350 :NEXT: SOUND1864,30:SOUND1758, 45
97 RETURN

98 IFSO=0THENSO=1:GOSUB85ELSES0=0

99 RETURN

100 GOSUB101:G0OTO0110

101 GOSUB82:IFVP=-1THENGOSUB68:PRINT@54," SEASON END ":GOSUB69ELSEB=GO:GOSUB63
104 FORA=QTO0108STEP108:LINE(20+A,21)-(32+A,49),1,B:LINE(33+A,21)-
(97+A,49),1,B:LINE(98+A,21)-(110+A,49),1,B:LINE(19+A,20) -
(111+A,50),1,B:NEXT:LINE(111,35)-(127,35)

105

PRINT@129, "TEAM" : PRINT@167, "RANKINGS" : PRINT@207, " CALENDAR" : PRINT@144, "GOALSCOR
ER":PRINT@185, "MARKET: "MID$(STR$(ME),2,2) : PRINT@227, "GAME" : GOSUB197:Y=1:A=1:B=
1:C=1:P=84:KEY(4)ON:KEY(5)ON:RETURN

110 PRINT@P+40xB," ":PRINT@P+13+40xB," ":IFA<4THENP=84ELSEP=-18

111 PRINT@P+40*A,">":PRINT@P+13+40%A,"<" :B=A

115 GOSUB90:IFA$=CHR$(13)0RA$="Y"ORA$="y"THEN130

116 IFA$="P"ORA$="p"THENIFST=1THEN1200

117 IFA$="M"ORA$="m"THENGOSUB132:G0SUB398:G0T0100

118 IFA$="I"ORA$="1"0ORA$="K"ORA$="k"THENGOSUB128:G0T0100

119 IFA$="T"ORA$="1"THENN=0:P=0:Y=0:GOSUB372:G0SUB374:G0SUB90:G0SUB421:G0T0100
120 IFA$=CHR$(29)0RA$=CHR$(30) THENA=A-2

121 IFA$="R"ORA$="r"THENC=2:G0T0130

122 IFA$="C"ORA$="c"THENC=3:G0T0130

123 IFA$="G"ORA$="g"THENC=4:G0T0130

124 R=VAL(A$) : IFR>0ANDR<=GTHENN=R:H=R:(C=1:G0T0130

126 A=A+1:IFA>6THENA=1ELSEIFA<1THENA=6

127 C=A:G0T0110

128 IFA$="I"ORA$="1"ORA$="K"ORA$="k"THEN4QELSERETURN

130 GOSUB132:G0SUB180:0NCGOSUB150,200,400,700,300,600:G0T0100

132 Y=0:KEY(4)OFF:KEY(5)O0FF:A=0:RETURN

135 GOSUB80:GOSUB144:LCOPY:B=G0:G0OSUB450: IFVP=-
1THENGOSUB142:G0OSUB101: PRINT@311, TIMES$; : LCOPY:RETURN

136 IFG=5ANDN=SQ(5)THEN142

139 FORA=1TOG:IFSQ(A)=NTHENB=A

140 NEXT:IFB/2=INT(B/2)THENN=SQ(B-1)ELSEN=SQ(B+1)

141 GOSUB151:LCOPY:GOSUB205:LCOPY:GOSUB702:LCOPY:RETURN

142 GOSUB205:LCOPY:IFVP<>-1THENB=GO:GOSUB450:G0SUB490:LCOPY

143 GOSUB702:LCOPY:RETURN

144 LPRINT" skkk SOCCER MANAGER stxx' : LPRINT" COPYRIGHT LUCA JIBO
1991":RETURN



150 GOSUB151:G0T0170

151 CLS:Q=0:PRINTN:PRINT@22-LEN(S$(N)+": $"+STR$(BK(N)))/2,S$(N)":
$="+MID$(STR$(BK(N)),2,6) :IFV(N)=0THENPRINT@37," (S)"ELSEPRINT@37," (/)"

154 S=0:FORR=0TOK-1:IFS(R)=NTHENQ=Q+1ELSENEXT:G0T0165

155 IFQ<6THENZ=40%(Q+1)+2ELSEZ=40%(Q-4)+19

160

PRINT@Z,L$(R) : PRINT@Z+9,L(R) : IFT(N)=0THENPRINT@Z+12,R$(R) ELSEPRINT@Z+12,"FILES

162 IFF(R)=0THENPRINT@Z+14,CHR$(170)ELSEPRINT@Z+13,F(R) :S=S+L(R)
164 NEXT

165 LINE(2,11)-(237,59),1,B:LINE(3,12)-(104,58),1,B:LINE(105,12)-
(236,58),1,B:LINE(206,14)-

(206,56) : PRINT@115, "D="":PRINT@155, "M="":PRINT@195, "A="":PRINT@235, "PL="": PRINT@27
5,"T="MID$(STR$(S),2,2):IFV(N)=0ANDNN (N)>6THENA$=">S<" : GOSUB557
166 IFT(N)=0@THENLINE(94,55)-(114,59),0,BF:PRINT@296,">F<"

167 GOT0190

170 GOSUB91:IFA$="P"ORA$="p"THENIFST=1THEN135ELSEGOSUBS83

172 IFA$="S"ORA$="s"THEN245

174 IFA$="F"ORA$=""THENGOSUB500: IFU<>-1ANDVP<>-1THEN6@2ELSEGOT0170
175 IFA$=CHR$(13)0RA$="Y"ORA$="y"THENRETURN

176 IFA$="I"ORA$="1"ORA$="K"ORA$="k"THEN40

177 IFA$=CHR$(29)0RA$=CHR$(30) THENH=H-1:G0T0179

178 H=H+1:A=VAL(A$) : IFA>GORA=NTHENH=N:RETURNELSEIFA>@THENH=A

179 GOSUB180:GOSUB86:G0T0150

180 IFH>GTHENH=1ELSEIFH<1THENH=G

181 N=H:RETURN

190 IFGG(N)<1@THENPRINT@238,MID$(STR$(GG(N)),2,2)

191 IFT(N)=1THENPRINT@115," DSTOP":PRINT@155," MSTOP":PRINT@195,"
ASTOP" :RETURN

192 PRINT@117,MID$(STR$(DD(N)),2,2):IFDD(N)<10THENPRINT@118," "
193 PRINT@157,MID$(STR$(MM(N)),2,2) :IFMM(N)<10THENPRINT@158," "
194 PRINT@197,MID$(STR$(AA(N)),2,2):IFAA(N)<10THENPRINT@198," "
195 RETURN

196 IFST=0THENST=1:GOSUB87ELSEST=0:G0OSUB85

197 GOSUB199:IFST=0THENPRINT@297," "ELSEPRINT@297,"LPrtOn"
198 RETURN
199 PRINT@281,DATE$:PRINT@289," >I< >K<" :RETURN

200 GOSUB205:G0OSUB90:IFA$="P"ORA$="p"THEN225

201 GOTO128

205 CLS:PRINT" TEAM CLUB PTS W D L GF GA EA":LINE(0,10)-
(77,12),1,B:LINE(73,0)-(75,14),1,B:LINE(79,11)-(239,11) : LINE(74,16)-
(74,8%G+15) : LINE(74,10)-(74,12) ,0:LINE(73,11)-(75,11),0

210 FORA=1TOG:FORB=1TO0G:IFCL(B)=ATHENGOSUB222

220 NEXT:NEXT:RETURN

222

PRINT@40+40%A,G$(B) : PRINT@53+40*A, PU(B) : PRINT@58+40%A,VI(B) : PRINT@61+40*A,NU(B
) : PRINT@64+40%A, PE(B) : PRINT@68+40*A, GF (B) : PRINT@71+40*A,GS(B) : PRINT@76+40%A ,MI
D$(STR$(MI(B)),1,3):IFMI(B)>0THENPRINT@76+40*A,"+";

224 RETURN

225 IFST=0THENGOSUB83:G0SUB90:IFA$="P"ORA$="p"THEN225ELSERETURN

226 GOSUB80:B=G0-1:IFGO=1THENB=1

227 IFVP=-1THENB=GO

228 GOSUB450:G0SUB490:LCOPY:GOSUB205:LCOPY:GOSUB702:LCOPY:G0T0144

230 FORA=1TO0G:H=0:FORB=1TO0G:IFA<>BANDPU(A)>=PU(B) THENH=H+1

235 NEXT:CL(A)=G-H:FORC=1TOA:IFC<>AANDCL(C)=CL(A)THENCL(A)=CL(A)+1

240 NEXT:NEXT:RETURN

245 IFV(N)=10RNN(N)<70RT(N)=1THEN83



247 PRINT@@,">Y<

SELL?":GOSUB90: IFA$<>"Y"ANDA$<>"y"THENPRINT@®,N; SPACE$(6) : GOSUB83:GOT0170
250 B=G0:GOSUB450:PRINT@0,SPACE$(40) : GOSUB68: PRINT@Q," SELL
PLAYER:":GOSUB69: PRINT@22-

LEN(S$(N))/2,S$(N) : PRINT@32,"$="MID$(STR$(BK(N)),2,6) : A$=">Y<":GOSUB557: A=1:G0
SUB255:IFL(C)>7THENS3

251 V(N)=1:51=1:PRINT@®,SPACE$(32) : GOSUB68: PRINT@®," SELL
"L$(C)":":GOSUB69: A=LEN( (L$(C))+"SELL :$="):GOSUB290:G0T0320

255 A$="1":M=121:D=0:G0T0268

260

GOSUB91: IFA$=CHR$(13)0RA$=CHR$(28) ORA$=CHR$(29) ORA$="Y"ORA$="y" ORA$="F"ORA$="f
"THENRETURN

261 IFA$=CHR$(30) THENA=A-1:G0T0268

263 B=VAL(A$):IFA$="0"THENB=10

265 IFB<1ANDA$<>"0"THENA=A+1ELSEA=B:IFB>NN(N)THENGOSUB83:G0T0260

268 IFA>NN(N)THENA=1ELSEIFA<1THENA=NN(N)

270 H=0:GOSUB81:FORB=QTOK-1:IFS(B)=NTHENH=H+1:IFH=ATHEND=H:C=B

272 NEXT:IFD<6THENX=40%(D+1)+1ELSEX=40%(D-4)+18

275 PRINT@M," ":PRINT@X,">":M=X:G0T0260

290 PRINT@A,"$?";10000%L(C)"max":B$="":E=1

291 GOSUB91:IFA$=CHR$(13)0RA$="Y"ORA$="y"THEN297

292 B=VAL(A$) : IFB=0ANDA$<>"0"THENGOSUB83:G0T0290

293 B$=B$+MID$(A$,1,1) :PRINT@A,"$= ";B$; : IFE<STHENPRINT"_ "

294 E=E+1:IFE>5THENGOSUB90:IFA$=" "ORA$="Y"ORA$="y"THEN297ELSEGOSUB83:G0T0290
295 G0T0291

297 B=VAL(B$): IFB<10000RB>10000*L (C) THENB=L (C)*5000

298 X1=INT(B):G0OT080

300 B=GO0:GOSUB450: IFME=QTHEN398

305 C=RND(1)*K:IFS(C)<>0THEN305

310 N=0:NN(0)=0:BK(0)=0:G0OSUB385:F(C)=9:R$(C)=" ":3(C)=0:GOSUB320:ME=ME-
1:RETURN

314 IFVP=-1THENRETURN

315 A$="":IFBK(Z)<PORBK(Z)<1000THENA$="($)"

316 IFNN(Z)=10THENA$="(P)"

317 IFZ=NTHENA$="(S)"

318 IFG=5ANDZ=SQ(5)THENA$="(R)"

319 PRINT@40%Z+42,A$:RETURN

320 X=X1-
1:M=1:V=0:G0SUB346: FORA=1T0G: IFA=NORBK(A) <X1ORNN (A)=10THENNEXT: GOT0360

325 IFG=5ANDA=SQ(5)THENNEXT:G0T0360

330 GOSUB79:PRINT@300-LEN(G$(A)+": $= "+STR$(BK(A)))/2,G$(A)":
$="+MID$(STR$(BK(A)),2,6);" PL="MID$(STR$(NN(A)),2,2):PRINT@217,"00000
":B$="":E=1:G0SUB90:IFA$=" "THEN386

331 IFA$="M"ORA$="m"THENGOSUB421:G0OSUB346:G0T0330

332 GOT0337

333 PRINT@217,"$ ?  ":B$="":E=1

335

GOSUB91:IFA$="Y"ORA$="y"ORA$=CHR$(13) THENIFE>1ANDE<5THENE=E+2:B$=B$+"00" : A$="0
"ELSEGOT0350

336 IFA$="M"ORA$="m"THEN331

337 IFA$=" "THEN386

338 B=VAL(A$): IFB=0ANDA$<>"0"THEN333

340 IFE=1THENPRINT@217," "

341 B$=B$+MID$(A$,1,1) :PRINT@217,B$; : IFE<6THENPRINT" _"

343 E=E+1:IFE>6THENGOSUB9@:IFA$="Y"ORA$="y"ORA$=CHR$(13) THEN350ELSEGOT0333
345 GOT0335

346 GOSUB370:Q=LEN(L$(C))*6+85:PRINT@103,L(C):LINE(Q,19)-(141,19),1,B:LINE-
(139,17) :LINE-(139,21) : LINE-



(141,19) : PRINT@94,L$(C) : PRINT@135,"$"X1:LINE(81,13)-(151,33),1,B:LINE(80,12)-
(152,34),1,B:LINE(101,48)-(131,49),1,B

347 IFS1=1THENPRINT@109,"25%+2":PRINT@149,"25%+1":PRINT@189, ""25%—
1":LINE(170,12)-
(206,42),1,BELSEPRINT@81, ">bar<":PRINT@122, ">M<":PRINT@114, ">ent<" :PRINT@155,"
>Y<||

348 RETURN

350 B=VAL(B$%):IFB>BK(A)ORB<X1THENB=0

352 IFB=XTHENM=M+1

354 IFB>XTHENX=B:V=A:M=1

355 GOSUB87:NEXT

360 IFM>1THENGOSUB370:LINE(79,20)-(153,42),1,B:LINE(80,21)-
(152,41),1,B:PRINT@136, "REPEAT:" : PRINT@174, " SAME"M"TEAM" : FORA=1TOM: GOSUB83:NEX
T:GOSUB90:G0T0320

361 IFN<>QANDV<>QTHENNN(N)=NN(N)-1:NN(V)=NN(V)+1:F(C)=9:R$(C)="
":J(C)=0:G0SUB390

362 IFN<>QANDV=0THENGOSUB380QELSEGOSUB373

363 IFN=QANDV<>OTHENNN(V)=NN(V)+1

364 PRINT@216,X" " :IFN=QANDV=OTHENPRINT@217," 0 "

365 IFN<>QANDV=NTHENPRINT@217," O "

366 S1=0:A=133:IFX>99999THENA=139

367 LINE(99,38)-(A,48),1,B:LINE(98,37)-(A+1,49),1,B:GOSUB79:B=10-
LEN(L$(C)):A$=L$(C)+SPACES$(B)+S$(V) :A=INT(LEN(A$)/2) :PRINT@299-A, A%

368 A=19-A+LEN(L$(C)):LINE(A*6+1,59)-( (A+B)*6-3,59):LINE-((A+B)*6-5,57) : LINE-
((A+B)*6-5,61) : LINE-( (A+B)x6—-

3,59) : GOSUB94: GOSUB90: IFA$="M"0RA$="m"THENGOSUB421

369 RETURN

370 IFN=QTHENS82

371 CLS:GOSUB68:PRINT@20-LEN(G$(N)+SPACE$(27))/2," *kxx "S$(N)" SELLS PLAYER
*x*kx ":G0T069

372 IFN<>QTHEN371ELSECLS:GOSUB68:PRINT" sk*kx* SOCCER MANAGER TEAM PROFILE skxkkx
":GOT069

373 S(C)=V:BK(V)=BK(V)-X:BK(N)=BK(N)+X:RETURN

374 Q=1:FORZ=1TO0G:GOSUB314

375

PRINT@40xQ+47,G$(Z) : PRINT@40%Q+59,BK(Z)"$" : A$="":IFV(Z)=0ANDNN(Z)>6THENA$="(S)

376 IFT(Z)=1THENA$=" F"

377
PRINT@40%Q+70,"PL="MID$(STR$(NN(Z)),2,2) : PRINT@40*Q+76,A$:Q=Q+1:S=LEN(MID$ ( (ST
R$(BK(Z))),2,6))*6+122:PSET(S, 8%Q+3) :NEXT:RETURN

380 GOSUB79:PRINT@291,"ACCEPT

"G$(0)" ?":GOSUB385:X=X1+INT(RND(1)*50*L(C))*100:PRINT@216,X"$ "

381 GOSUB90:IFA$="Y"ORA$="y"ORA$=CHR$(13)THENNN(N)=NN(N)-
1:BK(N)=BK(N)+X:S(C)=0:F(C)=9:R$(C)=" ":3(C)=0:G0T0390

382 V=N:RETURN

383 GOSUB83:G0T0381

385 X1=INT(50x%L(C)-(50%L(C))/10+RND(1)*(50%L(C)/5))*100:RETURN

386 GOSUB372:GOSUB374:G0SUB90:J=VAL(A$):IFJ>0THENJ=N:N=A:GOSUB151:N=J:GOSUB90@
387 GOSUB346:G0T0330

390 R=RND(1)*4:IFR=1ANDL(C)>1THENL(C)=L(C)-1:GOSUB396:G0SUB68:PRINT@192,"-1"
392 IFR=2THENL(C)=L(C)+1:GOSUB395:PRINT@152,"+1"

393 IFR=3THENL(C)=L(C)+2:GOSUB395:PRINT@112,"+2"

394 PRINT@104,MID$(STR$(L(C)),2,1):GOT069

395 GOSUB68:PRINT@94,L$(C):LINE(83,15)-(Q-2,23),1,B

396 LINE(143,15)-(149,23),1,B:LINE(171,13)-(205,41),1,B:RETURN

398 GOSUB421:N=0:P=0:G0SUB372:G0SUB374:G0SUB90:G0T0128

400 A=GO:W=5:IFG=4THENW=3



401 B=A:G0OSUB450:G0SUB490:C=G: IFG=5THENC=6

402

PRINT@281, ">F<":PRINT@316, ">R<":GOSUB90@: IFA$="P"0ORA$="p" THENIFST=1THEN411ELSEG
0SUB83:G0T0402

403 IFA$="I"ORA$="1i"ORA$="K"ORA$="K"THEN40

404 IFA$="Y"ORA$="y"ORA$=CHR$(13) THENRETURN

405 A=B:IFA$="F"ORA$="T"THENIFASWTHENA=A-W-1

406 IFA$="R"ORA$="r"THENIFA<=WTHENA=A+W-1

407 IFA$=CHR$(29)0RA$=CHR$(30) THENA=A-2

408 A=A+1:B=VAL(A$):IFA$="0"THENA=1QELSEIFB>0THENA=B

409 IFA>(C-1)*2THENRETURNELSEIFA<1THENA=(C-1)x*2

410 GOSUB80:G0T0401

411 GOSUB80:IFG>4THEN413

412 GOSUB420:FORB=1T06:G0OSUB415:NEXT:RETURN

413

GOSUB420: FORB=1T05:GOSUB415:NEXT:L=16:G0SUB1205: FORB=6T010:GOSUB415 :NEXT:RETUR
N

415 GOSUB450:G0SUB490:LCOPY:RETURN

420 GOSUB82:PRINT@134,"INSERT PAPER":PRINT@174,"PRESS ANY KEY":LINE(79,20)-
(165,42),1,B:LINE(80,21)-(164,41),1,B:GOSUB87:GOSUB90:G0OT080

421 CLS:GOSUB68:PRINT"SOCCER MANAGER xxx* MARKET PLAYER

*kx'" 1 GOSUB69:LINE(81,12)-(157,58),1,B:LINE(82,13)-
(156,57),1,B:FORQ=1T05:D(Q)=0:NEXT:R=0:Z=0: FORQ=0TOK-1:IFS(Q)<>0THEN424

422 FORS=1T09:IFL(Q)=STHEND(S)=D(S)+1:Z=Z+1:IFS>5THENR=R+1:PRINT@294,"
PL"R"SUPER "

423 NEXT

424 NEXT:GOSUB68:PRINT@26,Z"PLAYER *'":GOSUB69:FORQ=1T05:PRINT@57+40%Q,D(Q)"—-
CLOSE"Q:PRINT@55+40*Q,"PL=":LINE(134,10+8%Q)-(134,12+8%Q) : LINE(120,11+8*Q) -
(133, 11+8%Q) :NEXT:GOSUB90:G0T0128

430 GOSUB199:PRINT@281,"RESET FORMATION

TEAM: ?" : GOSUB90@: A=VAL (A$) : IFA<10RA>GORT (A)=0THENGOSUB83: A=C:B=C:G0T0199

432 GOSUB199:PRINT@281,"TEAM"A"NO FORMATION":GOSUB87:FORB=0TOK-
1:IFS(B)=ATHENR$(B)=" "

434 NEXT:T(A)=0:GG(A)=0:DD(A)=0:MM(A)=0:AA(A)=0:A=C:B=C:A$=""":RETURN

450 R=4:IFG=5THEN456

451
IFG=6THENR=6:A%$="123456463125625314245163451632214365641352263541421536546123"
:GOTO0455

454 A$="123432411324214323143142"

455 C=B-1:FORA=1TOR:SQ(A)=VAL(MID$(A$,A+R*C, 1)) :NEXT:RETURN

456 A$="2435315452411523431242531345251451323421" : GOSUB455: IFB>5THENC=C-5
457 SQ(5)=C+1:RETURN

490 GOSUB82:GOSUB63:PRINT@137-LEN(G$(SQ(1))),G$(sQ(1));"

";G6$(SQ(2)) : PRINT@177-LEN(G$(SQ(3))),G$(SQ(3));" - ";G$(SQ(4))
492 IFG=5THENA$="(R) "+G$(SQ(5)):A=LEN(A$)/2:PRINT@260-A,A$
493 IFG=6THENPRINT@217-LEN(G$(SQ(5))),G$(sSQ(5));" - ";G$(SQ(6))

494 IFGO=10RB>GOTHENRETURN

495 IFB=GOANDVP<>-1THENRETURN

497 C=Bx6-6:PRINT@138,MID$(STR$(RS(C)),2,1);"-
";MID$(STR$(RS(C+1)),2,1) :PRINT@178,MID$(STR$(RS(C+2)),2,1);"-
";MID$(STR$(RS(C+3)),2,1) : IFG=6THENPRINT@218 ,MID$(STR$(RS(C+4)),2,1);"-
";MID$(STR$(RS(C+5)),2,1)

498 RETURN

500 U=-1:IFT(N)=1THENS83

502 IFG=5ANDVP<>-1THENB=GO:GOSUB450:IFN=SQ(5)THENS83

505 PRINT@@,">Y<

FORM?" : GOSUB90: IFA$<>"Y"ANDA$<>"y" THENPRINT@®,N; SPACE$(6) : GOTO83



510 PRINT@@,SPACE$(40):G0SUB65: PRINT@22-
LEN(S$(N))/2,S%$(N):GG(N)=0:DD(N)=0:MM(N)=0:AA(N)=0:B=0:U=0:FORA=0TOK-
1:IFS(A)=NTHENB=B+1:GOSUB570:G0SUB580:IFF(A)>0THENU=U+1:IFU>6THENU=6

515 NEXT:GOSUB190:G0SUB68:PRINT@37,U:PRINT@34,"
PL=":G0OSUB69:PRINT@237,":":GOSUB80:A$=">Y<" :GOSUB557:GOSUB255: IFA$="Y"ORA$="y"
THEN555

520 IFGG(N)=UTHENIFA$="Y"ORA$="y"THENGOSUB68:PRINT@1,">Y< SURE?
":GOSUB69:GOSUB90@: IFA$="Y"0RA$="y"THENGOSUB87:T(N)=1:V(N)=1:A%$="

"t RETURNELSEGOSUB65:GOSUB83:GOT0550

523 IFF(C)=0THENGOSUB83:G0T0550

525 IFR$(C)=" "THENR$(C)="D":GG(N)=GG(N)+1:DD(N)=DD(N)+L(C):GOT0550

530 IFR$(C)="D"THENR$(C)="M":DD(N)=DD(N)-L(C):MM(N)=MM(N)+L(C):GOTO0550

535 IFR$(C)="M"THENR$(C)="A":MM(N)=MM(N)-L(C) :AA(N)=AA(N)+L(C):GOTO550

540 IFR$(C)="A"THENR$(C)=" ":GG(N)=GG(N)-1:AA(N)=AA(N)-L(C)

550 GOSUB190:PRINT@X+13,R$(C) :GOSUB260

555 IFGG(N)<>UTHENIFA$="Y"ORA$="y"THENGOSUB83:G0T0550

556 GOT0520

557 LINE(196,55)-(216,59),0,BF:PRINT@313,A%$:RETURN

570 IFF(A)=0THENR$(A)=" "

571 IFR$(A)="" "THENRETURN

572 IFR$(A)="D"THENDD(N)=DD(N)+L(A)

574 IFR$(A)="M"THENMM(N)=MM(N)+L(A)

576 IFR$(A)="A"THENAA(N)=AA(N)+L(A)

578 GG(N)=GG(N)+1:RETURN

580 IFB<6THENX=40%(B+1)+14ELSEX=40%(B-4)+31

581 PRINT@X,R$(A):RETURN

582 GOSUB90:IFA$=CHR$(13)0RA$="Y"ORA$="y"THEN664

584 IFA$=CHR$(29)0RA$=CHR$(30) THENC=C-1:G0T0587

585 A=VAL(A$):IFA<1THENC=C+1ELSEIFA>4THENGOSUB83:GOT0O582ELSEC=A

587 IFC>4THENC=1ELSEIFC<1THENC=4

589 A=C:G0T0660

590 B=G:IFG<6THENB=4

591 FORA=1TOBSTEP2

592

IFR(A)=R(A+1) THENPU(SQ(A))=PU(SQ(A))+1:PU(SQ(A+1))=PU(SQ(A+1))+1:NU(SQ(A))=NU(
SQ(A))+1:NU(SQ(A+1))=NU(SQ(A+1))+1:MI(SQ(A))=MI(SQ(A))-1

594

IFR(A)>R(A+1) THENPU(SQ(A))=PU(SQ(A))+2:VI(SQ(A))=VI(SQ(A))+1:PE(SQ(A+1))=PE(SQ
(A+1))+1:MI(SQ(A+1))=MI(SQ(A+1))-1

596

IFR(A+1)>R(A) THENPU(SQ(A+1) )=PU(SQ(A+1))+2:VI(SQ(A+1))=VI(SQ(A+1))+1:PE(SQ(A))
=PE(SQ(A))+1:MI(SQ(A))=MI(SQ(A))-2:MI(SQ(A+1))=MI(SQ(A+1))+1

598
GF(SQ(A))=GF(SQ(A))+R(A):GS(SQ(A))=GS(SQ(A))+R(A+1) :GF(SQ(A+1) )=GF(SQ(A+1))+R(
A+1) :GS(SQ(A+1))=GS(SQ(A+1))+R(A) :NEXT:RETURN

600 IFVP=-1THENG650

601 GOSUB602:G0T0128

602 CLS:B=G0:GOSUB450:D=6-G: IFG<6THENGOSUB68:PRINT"SOCCER MANAGER xxx*x TEAM
FORMATION READY":GOSUB69

604 LINE(62,53-8%G)-(140,57),1,B:LINE(141,53-8%G)-(175,57),1,B:LINE(158,55—-
8xG)-(158,55):LINE(61,52-8%G)-(176,58),1,B

605 C=0:FORA=1TO0G:PRINT@11+40%xA+40xD,G$(A)

606
IFG=5THENIFSQ(5)<>ATHENGOSUB640ELSEPRINT@25+40xA+40xD," (R)" : PRESET (158, 8%xA+8%D
-1)

608 IFG<>5THENGOSUB640



610

NEXT:GOSUB90: IFC=0THENGOSUB80: B=G0: GOSUB450: GOSUB490: GOSUB60: GOSUB780: GOSUB100
0

620 RETURN

640 IFT(A)=0THENLINE(166,8%A+3+8%xD-1)-(168,8%A+3+8%D+1),1,BF:C=C+1:RETURN

645 PRINT@24+40%xA+40x%D,"0K" :RETURN

650 GOSUB82:GOSUB68:PRINT@52," ADDITIONAL GAME '":PRINT@97," TEAM
":GOSUB69:PRINT@179,"vs":LINE(103,28)-(136,42),1,B:LINE(104,29)-(135,41),1,B
651 GOSUB90:A=VAL(A$):IFA<10RA>GTHENGOSUB83:G0T0651

652 GOSUB80:SQ(3)=A:B=(18-LEN(G$(A)))*6-4:LINE(103,30)-(104,40),0,B:PRINT@178-
LEN(G$(A)),G$(A):LINE(B-1,28)-(136,42),1,B:LINE(B,29)-(135,41),1,B

655 GOSUB90:A=VAL(A$):IFA<10RA>GORA=SQ(3) THENGOSUB83:G0T0655

656 GOSUB80:SQ(4)=A:C=(22+LEN(G$(A)))*6+2:LINE(135,30)-
(136,40),0,B:PRINT@182,G$(A) : LINE(B-1,28)-(C+1,42),1,B:LINE(B,29)-
(C,41),1,B:FORA=1T01400:NEXT:IFT(SQ(3))=00RT(SQ(4))=0THEN690

658 GOSUB82:PRINT@58-LEN(G$(SQ(3))),G$(SQ(3))" vs "G$(SQ(4)):LINE(50,21)-
(62,57),1,B:LINE(63,21)-(175,57),1,B:LINE(176,21)-(188,57),1,B:LINE(49,20)-
(189,58),1,B:PRINT@138, "EXIT" :PRINT@171,"SOCCER MANAGER CUP":PRINT@213,"PLAY-
OFF MATCH"

659 PRINT@253,"FRIENDLY MATCH":A=1:B=1:C=1:AA=1

660 PRINT@89+40xB," ":PRINT@110+40x%B,"
":PRINT@89+40%C,">":PRINT@110+40xC,"<" :B=C:G0OT0582

664 GOSUB80:AA=A:IFA=1THENRETURN

665 IFA=2ANDCI=1THENG70

666 PA=1:GOSUB780:G0OSUB730:FORA=1TOG:V(A)=1:NEXT:IFAA=4THENRETURN

667 IFR(3)=R(4)THEN666

668 IFAA=3THENRETURN

669 CI=1:5Q(7)=SQ(3):5Q(8)=SQ(4):R(7)=R(3):R(8)=R(4):IK(4)=IK(2)

670 GOSUB680O

671 GOSUB90:IFA$="P"ORA$="p"THENIFST=1THEN673ELSEGOSUB83:G0T0671

672 RETURN

673 GOSUB8@:IFR(7)>R(8)THENN=SQ(7)ELSEN=SQ(8)

674

FORA=1TOG:T(A)=0:NEXT:GOSUB420:GOSUB680: LCOPY:GOSUB151:LCOPY:GOSUB142:G0SUB144
:GOT0670

680 CLS:GOSUB68:PRINT@5," skkkkkxkkx "DATES$" sckkxkkkxkkk '":PRINT@45," *kkxx SOCCER
MANAGER CUP sxkx ":PRINT@85," skkxkkxkk FINAL MATCH skkkkxkkkx ":GOSUB69

681 PRINT@178-LEN(G$(SQ(7))),G$(SQ(7))"™ VS "G$(SQ(8)):PRINT@216,R(7)"——
"R(8):PRINT@293,"STADIUM"IK(4)*10:RETURN

690 GOSUB82:GOSUB68:PRINT@47," ADDITIONAL GAME FORMATION
":GOSUB69:LINE(62,21)-(140,41),1,B:LINE(141,21)-(175,41),1,B:LINE(158,23)-
(158,39):LINE(61,20)-(176,42),1,B:PRINT@131,G$(SQ(3)) : PRINT@171,G$(SQ(4))

691 FORA=3T04:IFT(SQ(A))=0THENPRINT@27+40%A,"NO":GOSUB83

692 IFT(SQ(A))=1THENPRINT@24+40x%A,"0K"

693 NEXT:GOT090

700 GOSUB702:G0OSUB90:IFA$="P"O0RA$="p"THEN225

701 GOT0128

702 CLS:A=G0-1:IFVP=-1THENA=GO

703 GOSUB68:PRINT@3," skk GOALSCORER DAY"A"xxx ":GOSUB69:LINE(19,9)-
(20,63),1,B:LINE(219,63)-(220,9),1,B
704

FORB=1TO07:IFJ(CA(B))=0THENFORA=35T0205STEP17:PSET (A, 8«B+3) :NEXT:NEXT:RETURN
706 A=8xB:C=5:IFJ(CA(B))>9THENC=4

708 PRINT@C+40xB,MID$(STR$(J(CA(B))),2,2)

710 LINE(45,1+A)-(43,1+A):LINE-(43,5+A):LINE-(45,5+A) :LINE-

(45,3+A) : LINE(47,1+A)-(49,5+A),1,B:LINE(51,1+A)-(53,3+A),1,B:LINE-

(53,5+A) : LINE(51,2+A)-(51,5+A) : LINE(55,1+A)—-(55,5+A) : LINE-

(57,5+A) : PRINT@11+40%B,L$(CA(B) ) : LINE(121,1+A)-(123,1+A)



715 LINE(122,1+A)-(122,5+A) :LINE(127,1+A)-(125,1+A) : LINE-(125,5+A) : LINE-
(127,5+A) :PSET(126,3+A) : LINE(129,1+A)-(131,3+A),1,B:LINE-

(131,5+A) :LINE(129,2+A)—-(129,5+A) : LINE(133,1+A)-(133,5+A) : LINE(135, 1+A) -
(135,5+A) : PSET(134,2+A)

720 PRINT@24+40%B,G$(S(CA(B))) :NEXT:RETURN

730 H=0:FORA=0TOK-1:IFS(A)<>0ANDJ(A)>=HTHENH=J(A)

731 NEXT:M=1

735 FORA=QTOK-1:IFM<8ANDS(A)<>0ANDJ(A)=HTHENCA(M)=A:M=M+1

736 NEXT:H=H-1:IFH<OTHENH=0

737 IFM<8THEN735ELSERETURN

750 B=G0:GOSUB450:FORA=0TOK-1:IFG=5ANDS(A)=SQ(5)THEN752

751 IFF(A)=0THENF(A)=10

752 NEXT:H=4:IFG=5THENH=5

753 IFG=4THENH=6

755 FORC=1TO0G:IFG=5ANDC=SQ(5) THENNEXT:RETURN

760 B=0:FORA=K-1TOQSTEP-1:IFS(A)<>CORF(A)=0THEN775

765 IFF(A)=10THENF(A)=9:G0TO0775

770 IFR$(A)<>" "THENF(A)=F(A)-

INT(RND(1)*H) : IFF(A)<1THENIFB<2THENF(A)=0:B=B+1ELSEF(A)=1

771 IFR$(A)=" "THENF(A)=F(A)+INT(RND(1)xH):IFF(A)>9THENF(A)=9

775 NEXT:NEXT:RETURN

780 IFG=4ANDGO=6THENVP=-1

781 IFG>4ANDGO=10THENVP=-1

782

CLS:GOSUB785: IFPA=1THENPRINT@13,SPACE$(13) : PRINT@293,SPACE$(13) : GOSUB830:A=2:G
0SUB872:B=IK(2):C=13:G0SUB860:CA(2)=D:G0OT0790

783
IFPA=2THENPRINT@®,SPACE$(13) : PRINT@280, SPACE$(13) : PRINT@26,SPACE$(13) : PRINT@30
6,SPACE$(13) : GOSUB830:GOSUB873:G0SUB868:GOSUB876:B=IK(1):C=0:G0SUB860:CA(1)=D:
B=IK(3):C=26:G0SUB860:CA(3)=D:GO0T0800

784

PRINT@@, SPACE$(39) : GOSUB79:GOSUB830:GOSUB873:GOSUB868:GOSUB876:B=IK(1):C=0:G0S
UB860:CA(1)=D:B=IK(2):C=13:G0SUB860:CA(2)=D:B=IK(3):C=26:G0SUB860:CA(3)=D:GOTO
810

785 IFPA<>1THENFORA=0T0233STEP78:G0SUB878:NEXT:RETURN

786 GOSUB840:A=78:G0T0878

790 C=78:FORA=CA(2)TOIK(2)STEP34:G0SUB850:NEXT:G0T0820

800 A=CA(1):B=CA(3)

802 IFA<IK(1)THENC=0:G0OSUB850:A=A+34ELSEA=20000

804 IFB<IK(3)THENC=156:G0SUB850:B=B+34ELSEB=20000

806 IFA=20000ANDB=ATHEN820

808 GOT0802

810 A=CA(1):B=CA(2):D=CA(3)

812 IFA<IK(1)THENC=0:G0OSUB850:A=A+34ELSEA=20000

813 IFB<IK(2)THENC=78:G0SUB850:B=B+34ELSEB=20000

814 IFD<IK(3)THENC=156:G0SUB850:D=D+34ELSED=20000

816 IFA=20000ANDB=AANDD=ATHENS820

818 GOT0812

820 GOSUB96:FORA=0T04000:NEXT:G0T0880

830 IFPA=10RPA=3THENA$=G$(SQ(3)):PRINT@20-LEN(A$)/2,A$:A$=G$(SQ(4)):PRINT@300-
LEN(AS$)/2,A$

832 IFPA=20RPA=3THENA$=G$(SQ(1)) :PRINT@7-LEN(A$)/2,A$:A$=G$(SQ(2)):PRINT@287-
LEN(A$)/2,A%$: IFPA=2THENA$=G$(SQ(3) ) : PRINT@33-
LEN(A$)/2,A$:A$=G$(SQ(4) ) : PRINT@313-LEN(A$)/2,A$; ELSEA$=G$(SQ(5)) : PRINT@33-
LEN(A$)/2,A%$:A$=G$(SQ(6)) : PRINT@313-LEN(A$)/2,A$

834 RETURN

840
IFAA=2THENFORA=0TO025STEP25:PRINT@126+A, "CUP" : PRINT@165+A, "FINAL" : LINE (25+6%A, 2



1)-(62+6%A,41),1,B:LINE(23+6%A,19)-(64+6%A,43),1,B:LINE(22+6*A,18)-
(65+6%A,44),1,B:NEXT

841
IFAA=3THENFORA=QT025STEP25: PRINT@124+A, "PLAYOFF" : PRINT@165+A, "MATCH" : LINE(19+6
*A,21)-(69+6%A,41),1,B:LINE(17+6%A,19)-(71+6%A,43),1,B:LINE(16+6%*A,18) -
(72+6%A,44),1,B:NEXT

842
IFAA=4THENFORA=0T026STEP26:PRINT@123+A, "FRIENDLY" : PRINT@165+A, "GAME" : LINE(13+6
*A,21)-(69+6%A,41),1,B:LINE(11+6%A,19)-(71+6%A,43),1,B:LINE(10+6%*A, 18) -
(72+6%A,44),1,B:NEXT:KEY(6)ON

843 RETURN

850 X=RND(1)*46+18+C:Y=RND(1)*6+8:LINE(X,Y)-
(X+2,Y+2),1,BF:X=RND(1)*10+66+C:Y=RND(1)*30+16:LINE(X,Y)-
(X+2,Y+2),1,BF:X=RND(1)*46+18+C:Y=RND (1) *6+48: LINE(X,Y)-
(X+2,Y+2),1,BF:X=RND(1)*10+6+C:Y=RND(1)*30+16:LINE(X,Y)-(X+2,Y+2),1,BF:RETURN
855 IFPA=10RPA=3THENLINE(116,33)-(117,34),0,B

856 IFPA=20RPA=3THENLINE(38,33)-(39,34),0,B:LINE(194,33)-(195,34),0,B

857 RETURN

860 IFB>3167ANDB<5068THEND=3168:G0T0864

861 IFB>5067ANDB<6969THEND=5068:G0T0865

862 IFB>6968ANDB<8870THEND=6969:G0T0866

863 D=8870:G0T0867

864

PRINT@45+C,"" : PRINT@245+C, "" : FORA=2T03: PRINT@41+40xA+C,"" : PRINT@51+40%A+C,"" :N
EXT:FORA=1TO4STEP3:PRINT@42+40%A+C,"" : PRINT@51+40xA+C,"" :NEXT : RETURN

865

PRINT@43+C,"" : PRINT@243+C, "" : FORA=1T04: PRINT@41+40xA+C,"" : PRINT@51+40%A+C,"" :N
EXT:RETURN

866

PRINT@43+C, "EOFEOF" : PRINT@243+C, "EOFEOF" : FORA=2T03: PRINT@41+40%A+C, "EOF" : PRINT
@51+40%A+C, "EOF" :NEXT: FORA=1TO4STEP3: PRINT@41+40%A+C, "EOF" : PRINT@51+40%A+C, "EO
F"' :NEXT:RETURN

867
PRINT@43+C,"EOFEOFEOFEOFEOFEOF" : PRINT@243+C, "EOFEOFEOFEOFEOFEOF" : FORA=2T03: PRI
NT@41+40xA+C,"EOFEOF" : PRINT@51+40xA+C, "EOFEOF" :NEXT : FORA=1TO4STEP3: PRINT@41+40
*A+C, "EOF" : PRINT@51+40%A+C, "EOF" :NEXT : RETURN

868 IFGO=1THENFORA=1T03:GOSUB872:NEXT:RETURN

869 IFPA=2THENIK(1)=10000%(PU(SQ(1))+PU(SQ(2)))/H:C=IK(1)/100%5:IK(1)=IK(1)-
C+RND (1) *(Cx2) : IK(3)=10000* (PU(SQ(3) )+PU(SQ(4)))/H:C=IK(3)/100%x5:IK(3)=IK(3)-
C+RND (1) *(Cx2)

870

IFPA=3THENB=0: FORA=1TO6STEP2:B=B+1:IK(B)=10000*(PU(SQ(A))+PU(SQ(A+1)))/H:C=IK(
B)/100%5:IK(B)=IK(B)—-C+RND(1)*(C*2) :NEXT

871 RETURN

872 IK(A)=RND(1)*1000+9500:RETURN

873 B=G0:GOSUB450:B=G: IFG<6THENB=4

874 H=0:FORA=1TOBSTEP2:IFPU(SQ(A))+PU(SQ(A+1))>HTHENH=PU(SQ(A))+PU(SQ(A+1))
875 NEXT:RETURN

876 FORA=1T03:IFIK(A)<10000-1000xGOTHENB=(10000-1000%G0)/100x5:IK(A)=(10000-
1000xG0)—-B+RND (1) *(Bx2)

877 IFIK(A)<3168THENIK(A)=3168+RND(1)%*158:NEXT:RETURNELSENEXT:RETURN

878 LINE(18+A,16)-(65+A,47),1,B:LINE(42+A,17)-(42+A,46) : LINE(18+A,29)-
(21+A,34),1,B:LINE(65+A,29)-(62+A,34),1,B:LINE(18+A,24)-
(26+A,39),1,B:LINE(65+A,24)-(57+A,39),1,B:LINE(18+A,7)-(66+A,7) : LINE-
(66+A,15) : LINE-(78+A,15)

879 LINE-(78+A,48):LINE-(66+A,48):LINE-(66+A,56) :LINE-(17+A,56) : LINE-
(17+A,48) : LINE-(5+A,48) : LINE-(5+A, 15) : LINE-(17+A,15) : LINE-(17+A,7) :RETURN

880 CLS:IFPA=1THENGOSUB895:G0SUB888



881 IFPA=2THENGOSUB896:G0SUB884:5Q(5)=5SQ(3):5Q(6)=5SQ(4):G0SUB892

882 IFPA=3THENGOSUB897:G0SUB884:G0SUB888:G0OSUB892

883 PRINT@291,"TIME":PRINT@304,"TIME":KEY(6)O0FF:G0SUB899:G0T0904

884
IFDD(SQ(1))=0ANDAA(SQ(2))=0THENE=499ELSEE=DD(SQ(1))*1000/(DD(SQ(1))+AA(SQ(2)))
-1:IFE>899THENE=899ELSEIFE<99THENE=99

885
IFMM(SQ(1))=0ANDMM(SQ(2))=0THENR=499ELSER=MM(SQ(1))*1000/(MM(SQ(1))+MM(SQ(2)))
—-1:IFR>899THENR=899ELSEIFR<99THENR=99

886
IFAA(SQ(1))=0ANDDD(SQ(2))=0THENT=499ELSET=AA(SQ(1))*1000/(AA(SQ(1))+DD(SQ(2)))
-1:IFT>899THENT=899ELSEIFT<99THENT=99

887 RETURN

888
IFDD(SQ(3))=0ANDAA(SQ(4))=0THENS=499ELSES=DD(SQ(3))*1000/(DD(SQ(3))+AA(SQ(4)))
-1:IFS>899THENS=899ELSEIFS<99THENS=99

889

IFMM(SQ(3))=0ANDMM(SQ(4))=0THEND=499ELSED=MM(SQ(3))*1000/ (MM(SQ(3))+MM(SQ(4)))
-1:IFD>899THEND=899ELSEIFD<99THEND=99

890
IFAA(SQ(3))=0ANDDD(SQ(4))=0THENF=499ELSEF=AA(SQ(3))*1000/(AA(SQ(3))+DD(SQ(4)))
-1:IFF>899THENF=899ELSEIFF<99THENF=99

891 RETURN

892
IFDD(SQ(5))=0ANDAA(SQ(6))=0THENC=499ELSEC=DD(SQ(5))*1000/(DD(SQ(5))+AA(SQ(6)))
-1:IFC>899THENC=899ELSEIFC<99THENC=99

893

IFMM(SQ(5) )=0ANDMM(SQ(6) ) =@THENV=499ELSEV=MM(SQ(5) ) *1000/ (MM(SQ(5))+MM(SQ(6)))
-1:IFV>899THENV=899ELSEIFV<99THENV=99

894
IFAA(SQ(5))=0ANDDD(SQ(6))=0THENB=499:RETURNELSEB=AA(SQ(5))*1000/(AA(SQ(5))+DD(
SQ(6)))-1:IFB>899THENB=899:RETURNELSEIFB<99THENB=99:RETURNELSERETURN

895 A$=G$(SQ(3)) :PRINT@20-LEN(A$)/2,A$:A$=G$(SQ(4)) : PRINT@60-
LEN(A$)/2,A$:PRINT@297,"0 — 0" :RETURN

896 A$=G$(SQ(1)):PRINT@7-LEN(A$)/2,A$:A$=G$(SQ(2)):PRINT@47-
LEN(A$)/2,A$:A$=G$(SQ(3)) : PRINT@33-LEN(A$)/2,A$:A$=G$(SQ(4) ) : PRINT@73-
LEN(A$)/2,A$:PRINT@284,"0 — 0"TAB(30)"0 — 0":RETURN

897 A$=G$(SQ(1)):PRINT@7-LEN(A$)/2,A$:A$=G$(SQ(2)):PRINT@47-
LEN(AS$)/2,A$:A$=G$(SQ(3)) : PRINT@20-LEN(A$) /2,A$:A$=G$(SQ(4) ) : PRINT@60-
LEN(A$)/2,A$:A$=G$(SQ(5) ) : PRINT@33-LEN(A$) /2,A$:A$=G$(SQ(6) ) : PRINT@73-
LEN(A$)/2,A$

898 PRINT@284,"0 - ©0"TAB(17)"0@ - 0"TAB(30)"0 - 0":RETURN

899 IFPA<>1THENFORA=6T0162STEP78:G0SUB902:NEXT:RETURN

900 GOSUB840:A=84:G0T0902

902 LINE(A,16)-(A+65,54),1,B:LINE(A+2,18)-(A+63,52),1,BF:LINE(A+1,32)-
(A+4,38),0,B:LINE(A+61,32)-(A+64,38),0,B:LINE(A+1,26)-(A+10,44),0,B

903 LINE(A+55,26)-(A+64,44),0,B:LINE(A+1,33)-(A+1,37),1:LINE(A+64,33)-
(A+64,37),1:LINE(A+32,16)-(A+33,54),1,B:LINE(A+32,35)-(A+33,35),0:G0T0855

904
B=INT(B):Q=38:7=33:Y=3:1=38:0=2:L=116:M=Z:A=Y:H=116:J=Z:W=194:X=Z:N=Y:U=194:K=
Z:FORP=1T06:R(P)=0:T(P)=0:V(P)=0:NEXT:TI=0:PRINT@291," GO ":PRINT@304," GO
":IFSO=1THENSOUND810, 30

905 FORTT=0TO03:IFPA=1THENFORP=0T0320:NEXT:G0T0915

906 LINE(I,O0)-(I+1,0+1),1,B:LINE(Q,Z)-(Q+1,Z+1),0,B:I=Q:0=2:IFQ=20THEN935

907 IFQ=38THEN940

908 IFQ=56THEN945

909 Q=Q+Y:IFQ>68THEN950

910 IFQ<8THEN952



911 P=INT(RND(1)*8):IFP<2THENZ=Z+3:IFZ>51THENZ=45:Y=-Y:G0T0914
912 IFP>5THENZ=Z-3:1FZ<18THENZ=24:Y=-Y

914 IFPA=2THENFORP=0T0150:NEXT:G0T0924

915 LINE(H,J)-(H+1,3+1),1,B:LINE(L,M)-(L+1,M+1),0,B:H=L:J=M:IFL=98THEN954
916 IFL=116THEN959

917 IFL=134THEN964

918 L=L+A:IFL>146THEN970

919 IFL<86THEN972

920 P=INT(RND(1)*8):IFP<2THENM=M+3:IFM>51THENM=45:A=-A:G0T0922
921 IFP>5THENM=M-3:IFM<18THENM=24:A=-A

922 IFPA=1THEN931

924 LINE(U,K)-(U+1,K+1),1,B:LINE(W,X)-(W+1,X+1),0,B:U=W:K=X:IFW=176THEN974
925 IFW=194THEN979

926 IFW=212THEN984

927 W=W+N:IFW>224THEN989

928 IFW<164THEN991

929 P=INT(RND(1)*8):IFP<2THENX=X+3:IFX>51THENX=45:N=-N:G0T0931
930 IFP>5THENX=X-3:IFX<18THENX=24:N=-N

931 NEXT:IFTI<9QTHENTI=TI+1:PRINT@291,TI:PRINT@304,TI:GOT0905
932
IFSO=1THENSOUND810,30: FORA=1T0700:NEXT: SOUND810,30: FORA=1T0700 :NEXT:SOUND810, 6
0

933 K=10*G:KEY(6)0FF:RETURN

935 P=RND(1)%*1000:Y=3:IFP>ETHENY=-3

936 Q=Q+Y:GOT0911

940 P=RND(1)%*1000:Y=3:IFP>RTHENY=-3

941 Q=Q+Y:GOT0911

945 P=RND(1)%*1000:Y=3:IFP>TTHENY=-3

946 Q=Q+Y:GOT0911

950 Y=-3:Q=65:1FZ<330RZ>36THEN911

951 Q=38:R(1)=R(1)+1:PRINT@283,R(1):G0SUB80:G0T0914

952 Y=3:Q=11:1IFZ<330RZ>36THEN911

953 Q=38:R(2)=R(2)+1:PRINT@287,R(2):G0SUB80:G0T0914

954 P=RND(1)%*1000:A=3: IFP>STHENA=-3

955 L=L+A:G0T0920

959 P=RND(1)%*1000:A=3: IFP>DTHENA=-3

960 L=L+A:G0T0920

964 P=RND(1)%*1000:A=3:IFP>FTHENA=-3

965 L=L+A:G0T0920

970 A=-3:1L=143:1FM<330RM>36THEN920

971 L=116:R(3)=R(3)+1:PRINT@296,R(3) :GOSUB80:G0T0922

972 A=3:L=89:IFM<330RM>36THEN920

973 L=116:R(4)=R(4)+1:PRINT@300,R(4):GOSUB80:G0T0922

974 P=RND(1)%*1000:N=3:IFP>CTHENN=-3

975 W=W+N:G0T0929

979 P=RND(1)%*1000:N=3:IFP>VTHENN=-3

980 W=W+N:G0T0929

984 P=RND(1)%*1000:N=3: IFP>BTHENN=-3

985 W=W+N:G0T0929

989 N=-3:W=221:1FX<330RX>36THEN929

990 W=194:R(5)=R(5)+1:PRINT@309,R(5):G0SUB80:G0T0931

991 N=3:W=167:IFX<330RX>36THEN929

992 W=194:R(6)=R(6)+1:PRINT@313,R(6):G0SUB80:G0T0931

1000 IFG<6THENR(3)=R(5):R(4)=R(6):IK(2)=IK(3)

1002 H=0:FORA=0QTOK-1:IFS(A)=0THENH=H+1

1003 NEXT:IFG=5THENME=ME+4ELSEME=ME+G

1005 IFME>HTHENME=H



1008 C=6*GO0-
6:RS(C)=R(1):RS(C+1)=R(2):RS(C+2)=R(3):RS(C+3)=R(4):RS(C+4)=R(5):RS(C+5)=R(6):
GOSUB590:G0SUB230: GOSUB205: GOSUB750: IFVP=-—

1THENME=0: FORA=1TO0G:V(A)=1:NEXT:GOSUB1160ELSEGO=G0+1

1010 B=G:IFG<6THENB=4

1015 C=0:FORA=1TOBSTEP2:A$="A":IFAA(SQ(A))=0THENA$="M":IFMM(SQ(A))=0THENA$="D"
1020 B$="A":IFAA(SQ(A+1))=@THENB$="M":IFMM(SQ(A+1))=0THENB$="D"

1025 Q=0:W=0:IFR(A)=0THENW=1

1030 Z=0:X=0:IFR(A+1)=0THENX=1

1040 IFW=1THEN1060

1045 R=RND(1)=*K:IFS(R)<>SQ(A)THEN1045

1046 IFR$(R)<>A$THEN1045

1050 Q=Q+1:J(R)=J(R)+1:IFQ<11THEND(Q)=R

1055 IFQ=R(A)THENW=1

1060 IFX=1THEN1080

1065 T=RND(1)*K:IFS(T)<>SQ(A+1)THEN1065

1066 IFR$(T)<>B$THEN1065

1070 Z=Z+1:3(T)=3(T)+1:IFZ<11THENCA(Z)=T

1075 IFZ=R(A+1)THENX=1

1080 IFW=1ANDX=1THEN1100

1085 GOT01040

1100 IFA=1THENGOSUB62ELSEGOSUB61

1103 GOSUB80:GOSUB80:GOSUB9@: CLS:C=C+1:PRINT@17-LEN(G$(SQ(A))),G$(SQ(A));"
";G$(SQ(A+1)) : PRINT@18,MID$(STR$(R(A)),2,1);"-
";MID$(STR$(R(A+1)),2,1):PRINT@52,"STADIUM"IK(C)*10:PRINT@95,"$"INT(IK(C)*2.5)
II$II

1105 LINE(0,18)-(88,20),1,B:LINE(144,18)-
(239,20),1,B:BK(SQ(A) )=BK(SQ(A) )+INT(IK(C)*2.5) :BK(SQ(A+1))=BK(SQ(A+1))+INT(IK
(C)*2.5):LINE(115,24)-(117,63),1,B

1110 E=81:IFR(A)<6THENE=86

1115 F=101:IFR(A+1)<6THENF=106

1120 IFR(A)=0THEN1135

1125 FORQ=1TOR(A):IFQ<11THENIFQ<6THENPRINT@E+40%Q,L$(D(Q)); ELSEPRINT@91+40%(Q-
5),L$(D(Q))

1130 NEXT

1135 IFR(A+1)=@THEN1146

1140

FORZ=1TOR(A+1) : IFZ<11THENIFZ<6THENPRINT@F+40%xZ,L$(CA(Z) ) ; ELSEPRINT@111+40*(Z-
5),L$(CA(Z))

1145 NEXT

1146
NEXT:GOSUB730:GOSUB61: GOSUB80@: GOSUB8A: GOSUB90@: GOSUB702: GOSUB61: GOSUB8@: GOSUB8O
:GOSUB90: IFA$="P"0ORA$="p" THENGOSUB225

1147 IFVP=-1THENRETURN

1148 B=G0:GOSUB1153:IFG=5THENV(SQ(5))=1

1149 IFG=4ANDGO>3THENB=G0-3:G0OSUB1152

1150 IFG>4ANDGO>5THENB=G0-5:G0SUB1152

1151

FORN=1TO0G: GOSUB85:GOSUB151:GOSUB6@ :NEXT:N=0:P=0:G0SUB370:GOSUB374:GOSUB61:GOSU
B80:GOSUB80:GOTO90

1152 GOSUB85

1153 GOSUB450:G0SUB490:G0T060

1160 FORA=QTOK-1:IFF(A)<1THENF(A)=1

1165 NEXT:RETURN

1200

GOSUB80:Y=0:G0SUB420:GOSUB82:L=2:G0SUB51: LCOPY:GOSUB1205:G0OSUB52: LCOPY:GOSUB53
:LCOPY:GOSUB1205:GOSUB54: LCOPY: GOSUB1205:GOSUB41: LCOPY:GOSUB42:LCOPY:GOT0100
1205 FORA=1TOL:LPRINT:NEXT:RETURN



